@@ﬁ@@@ﬁﬁﬁ[ﬁ D ofAmer(ci

P Ay AL A A AN ST

PO Box 18 « 425 Route 202 « Towaco, NJ 07082 - Tel.: 973-263-0477 « Fax. 973-263-0477

l\.
| 3 'ﬂ\_’__ §:r £21 '-l/fi{
Q »:n\ms-r R |

May 3, 2004

NRC

ATTN.: John Jankovich
11555 Rockville
Rockville, MD 20852

ﬁe: Amendment of registration certificate NR-122-D-101-B

Dear John,
Betacontrol improved the device MK 1.0. In appliance with NRC regulations we submit the new
drawings for your records.

With the modifications we want to keep our product up to date with the needs of our customers
and in maintaining exposures “as low as is reasonably achievable” ALARA.

" Attached please find the new drawings.
| also ask you kindly to Llpdate your files in the matter of the distributor address:
Betacontrol of America

P.O.Box 18

425 Route 202

Towaco, NJ 07082

The ownership has not changed. Betacontro! of America only relocated their office.

If you need any additional information, please feel free to call me.

Best regards,

) ,//w/%/

Markus Hannig
Manager
Sales & Service



& | ] 1 [ | 1 L []
365
245
A EL A
g, . o
i l
]
8
H 2
Parpasiion =z
8 pack position 8
2|5 l .
Sz
&
| ‘|Nc ™~ -
s A1 A
¢ 185 ¢
| Unterhiunte Hefigut
sida of muturisl
380 b 100 127 e or contrt apsten
) i
Anschiufikaaten fic Malabel
for g cable
(M LrBte—
0 I 1 { s e | :l o
™ Vi 3, - 4 A=
A + (O
DUy VXL
] s 1195, -
E s E
] |
EITeY
Haveing ale 1 2 | 3 1 & ] 5 | s w efastgus - Sohrungen
g holes
Gesamtbrelfe frous de montage - - -
fotal width a | 1740 | 2250 | 2760 | 3270 | 3780 | 4290 o, [ frove W Jorm - e
F[* max, ﬂeﬂguﬂireﬂe * Wartungséffoung freihalten DIN IS0 2768-f - N e
ﬂx' materiat width b 950 1460 1970 2480 2999 3500 Opening for service to ba kept free — o;:-zw s.... Halbild fir Traverse
Mitte Meligut j 103,003
middle material c 855 1110 1365 1620 1875 2130 Horm, o | dlmmslondrawhgn-frame
wird von batacontrol fastgelegt ]
Gaternined dy batacontrot e beltacentrG! | 700-010-590/2 ""u
1 | 2 3 A | 5 M o, [N o T 1




) [ 3 [ L [ 5 1 S T 1
Strahlungsachse Str ahlungsa_chse
A Steckeranschluss
lug connection
Messqut | )
- 4 & 44
I =2 g
ol ) Prodﬁkﬁonsrichfun ‘
B N\ - - 7/ > L] A ] - g
= production direction
a N\ (
o |4 ~ g 5
- e Steckeranschluss ) —
- lug connection
1%
C 84
#2170
7 N5 N
7 v T
. o (‘I /.\\ X
& 1]
D} - m k ]
S AN\, /,
| ==
2 33 10 286
E 9270 v 1 10 6 263
/ ) M e C
Variante Messspalt
. - o * N
43 sl & variant  [measuring gap
- - Allgemein- Oberfikche [Mamiab 15 lm
i . |toleranzen
ky DIN IS0 2768- -
S — e Datvm Name S
F o “ ::;\ 98072003 San. ensor
Horn sensor
170 X Blatt
_ beltacenire | S01-103-001-3 -
| 7 | 3 | A I P LT T T M TR T e >




3 I

Strahlergehduse, Staht

Kollimator, Messing

A collimateur, brass
source housing, steel

Platte, Aluminium -
plate, atuminium

Abschirmlasche Stahl Drehmagnet mit Riickstellfeder
shlelding bracket turning magnet with resetting spring
: Straghlenguelle )
Grundplatte, Staht | . radiatlon source
base ptate, steel :
0-Ri Druckfeder Stahl
ouring Priparathalter, Stahl spring
9 . compound holder, steel
. Abschirmung, Blei
D 5 shield, lead _ |Altgemein-  [overniche [Hsmtw 1 [poten -
Q. toleranzen " N
%’i’.‘""""'ﬁ . Deckel, Stahl DIN1S0 Z768-# - -
— Datvm Naoe
\ /__._-»‘—/-—:-:’/;-/ cover, steel Bearn. |14.00.2003] San. Strahler
: Gepr.
Typenschitd Horm |
name plate Warnschild radioaktiv, Auf vorder u. Rlickseite angebracht, Blart
warn lable radioactive, on front and back-side mounted S04-041-030-3 -
1 | 2 i | 3 ] [A I zrv. nderangen Tatom [Name| Getvoms Mool IO TR >

Schalter fiir Warnleuchte
switch for remote tamps -

el iy
.

3

—

g

il

OIS Laem ey

T ||

o+




32

lU

=T 2

12

i

)

pij

™ L

|

lC)

O

He

A

Swahlenquete Kr ISJ
source Kr 85

=0

—

A-A

C-C

Strahler / emitier

l"w‘

© |S04-41012

S

msp
PR 7

PNy AN g

RN AR

PASRN
;..
Gﬁ.

7] TENERRN Rt

o

NS 74 F

2

Vi

A
‘.‘!’/ %

/smmnns:m
wource S 90

RIS

O—Lz
%

,

C

N

] FRRRRSEN

Y




1 | 3 ] | 2 { 6 ] 1 | 8
53
. — — .
| ®\ - AR A T = \
OZZZZZ77. W/)ZH \ YA -
sl N \\
YHANNIN
o TR /7
N / 18 1 [innensechskantschraube mit IS0 10642 - M4 x 12 (A2 -
§ ; Senkkopf __ Alten countersunk
N\ ==t \ screw
&”\\\ N 17 2 |Zylinderschraube mit Schlitz __ [DIN 912-M2 x &4 A2
= Filllster head screw B
16 1 [Schild __ Name plate 700-052-025/4 A2
. + 15 2  |Zylinderschraube __ Allen head [DIN 912 - M3 x 20 A2
screw )
d’) 8 14 1 |Sechskantschraube __Hex head [DIN933-M3 x 8 A2 B
18 screw
13 1 |Sechskantmutter __Hex head [DIN 934 - M3 A2
\ screw C
n 16 , 12 3 |Zylinderschraube mit Schlitz __ [IS0 1207 - M3 x 25 A2
7 Fillister head scraw
/ 1 3 |Zylinderschraube mit Schlitz _ [ISO 1207 - M3 x 20 A2
4 - JFillister head screw’ |
10 3 |Zylinderschraube mit Schlitz:_ [ISO 1207 ~ M4 x 14 A2
Fillister head screw
’ B 1 |Druckfeder _ Spring VD-119K 14310
6 1 |Abschirmlasche __ Shielding . 1S04-052-014-4 S235JR D
bracket
5 0 [Strablenquelle _ Radiation - [X.1114
sousce : :
\ 18 1 IBleiabschirmung __ Shielding S04-052-009-4 Pb B
N bracket
() 3 1 |Deckel  Cover 504-052-008-4 S235)R
N 2 1 |Prdparathalter oben__ S04-052-005-4 - |S235JR E
N Compound holder A
' 1 1 |Grundplatte Base plate S04-041-024-3 5235JR
N Element[Anz.|Beschreibun Standard Material
Allgemein- Oberfidche |Hamatad 11 Irnnin - My o -
toleranzen - -
DIN1SO 2768-¢ - i
Datun Nima .
o [T102.2003] Safl. Strahlerabschirmung Kr. 85
Gepr. 110203 | Pioch F
Horm shielding Sr 90
Buatt
$04-52001-3 -
1 | | 3 | | Zust | Anderungen Datum |Name| Datehame Minkisbududs tATR W




1 ] 2 3 ] ] 5 I 6 | / 1 8
53 .
/ /2447 R\ 7777 I
ENNONNNNNNARNNNNNY #9212 -
f
12 3 |Zylinderschraube mit Schlitz  [Fillister head IS0 1207 - M3 x 25
screw )
11 3 |Zylinderschraube mit Schlitz Fillister head  {ISO 1207-M3x 20
. |screw -
10 3 |Zylinderschraube mit Schlitz Fillister head  [ISO 1207 - M4 x 14
“|screw
8 1 Druckfeder Spring VD-179K
6 1 |Druckstange Spacer S04-052-010/4
5 0 [Strahlenquelle Radiation source|X.117
b 1 |{Bleiabschirmung Shield 504-052-009-4
3 1 [Deckel Cover S04-052-008-4
2 1 |Préparathalter oben Compound S04-052-006-4
holder
1 1 |Grundplatte Base plate S04-041-024-3
Etement]Anz.|Beschreibun . [Material Standard
Altgemein- Oberfische | Manstad 14 |r-ah .
toleranzen - -
DIN IS0 2768-1 - N
Datum Name .
Bearh | 11022003 San. Strahlerabschirmung Sr 90
Gepr._[18.02.03 | Weber
Norm : shielding Sr 90
Blate
betaocontrGl | S04-52005-3 =
1 | .7 3 | | Zust] Andervngen Datum [Kame| Daterame uﬂmln -

-




1 | 2 3 ] 2 I 6 ] 1 i 8
53
7 177/ IR\ 2/77i A
[INAAARAACANARAN S
B
C
12 |3 [Zylinderschraube mit Schlitz Fillister head  [ISO 1207 - M3 x 25 —
screw .
11 3 |Zylinderschraube mit Schlitz:  |Fillister head - }IS0 1207 - M3 x 20
' . |screw” ] '
10 3 |Zylinderschraube mit Schlitz Fillister head  [ISO 1207 - MA x 14 D
screw
8 1 [Druckfeder Spring VD-179K
6 1 |Druckstange Spacer '|S04-052-010/4
5 0 |Strahlenquelle Radiation source |
b 1 |Bleiabschirmung Shield S04-052-009-4
3 1 |Deckel- Cover S$04-052-008-4 )
2 1 |Prdparathalter oben - Compound S04-052-006-4 3
' hotder
1 1 |Grundplatte Base plate S04-041-024-3
Element|Anz.[Beschreibun . |Material. Standard
: Allgemein- Overfiiche |Malstad 1] [Poten - e -
toleranzen N -
DIN IS0 2768-f - -
Datua Naze
T h T Strahterabschirmung Am 241/ Pr 147 F
Worm shielding Am 241/ Pm 147
Blatt
betacentr® | S04-52007-3 =
1 | 7 3 | Zust | Rnderungen Datow_(Name| Dstenane Midiiertanid VA3 W




4010 g g e 3 ‘-”:,»xjﬁl%n'.d}{ﬁ%?‘ 35 b
i CAUTION

PP A
ik 1o

Jaod

¥14d%

¥

7

FESY 4 ‘;r)‘il

ey V"tie;"ﬁ.,?.n-




e

=1
) A
3 ~
130
=% R § — 02 £
ou3-12, 5-Ete3 S50 =

AP

BT St oy
SRy v
e

. ] waad a

e,

> ne
e

g

13—Emre——— 25—

18-———Ertad—1 5—

Aligemein-
toleranzen
DIN ISO 2768-f

AlMg3

Datum

__Name

Cezeichne]31.03.2004

Typenschild

Safl

{ontrofliert

Homm

Messkopf

1 504-041-052

Ad

Satus

Anderungsn Datum

Name




Ispdosiskurven | isodose curves nach DIN 412-1

Strahler abgeschirmt /source shielded

-

Seitliche Ansicht
side view

;k/:::-u--h---"'""-u

¢

)

m/ \
-

¥
o
1
(]
g
1
1
1

LD YT TR ]

S Lchadel T
e airava vas 7851 s b
. ’
: :

Y ey ————————y

—e—- 75uSvh

----- 2,5 uSvsh
Isotop: Kr85 Messspalf: 10 mm Strahlertyp: X1114
isotope meas. gap ’ : type )

Aktivitat: 3,7 GBq Kollimator: Schlifz 10 x 35 mm Kr85-3,7-10-01
activity slotted collimator Bl.2

Messgerit: babyline

Indicon One S-03 / Strahlenbelastung / Kr35-3-7-10-01-DIN 412-1 @@Q@@@@Q?@J



Isodosiskurven | isodose curves nach DIN 412-1

- Strahler im Messbetrieb / source unshieh'!ed

Seitliche Ansicht
side view

im

. i—-g D SR
I - B
'\'"\;‘ :

| S
A 9 N :
’ NF ¢ (Y] ."“
\ ~ ® By g o w—

K N N m ke mmm
N

=t 75pSvh
----- 2,5 uSvs/h
Isotop: Kr85 Messspalt: 10 mm Strahlertyp: X1114
isotope meas.gap . . type . -
Aktivitat: 3,7 GBq Kollimator: Schlitz10 x 35 mm - Kr85-3,7-10-01
activity slotted collimator - ) Bl. 1
Messgerét: babyline

Indicon One S-03 / Strahlenbelastung / Kr85-3-7-10-01-DIN 412-1 @@3@@@@&?@3



B 3 T s L S T
rahlenbelastu
SRR AN g ST T

Isodosiskurven | isodose curves nach DIN 412-1

Strahler abgeschirmt/ source shielded

seitliche Ansicht
side view

- - - - - -

im. _

\ “‘-—-‘-'--'.-—-.-.--_-.:ﬁ\\

éc.m % ; \
'I'

.\.. gy & w /’
f %'ﬂn._,nl‘-l‘-, . \ g

-’:::/

a
=

e
‘l~..

y:

-t

~1--- P LA

w

M ¥ N

LLLLLT M

’d'

/’-‘"
“

= " 75pSvh
————— 2,5uSvs/h
Isotop: Kr85 Messspalt: 10 mm , Strahlertyp: X1114
Isotope meas.gap - type
Aktivitat: 9,9 GBq Kollimator: Schlitz 10 x 35 mm Kr85-9,9-10-01
activity slotted collimator Bl 2
MeRgerat: babyline

Indicon One $-03 / Strahlenbelastung / Kr85-9-8-10-01-DiN412-1 . @@Q@@@fﬁﬂ?&ﬂ



Isodosiskurven | isédose curves nach DIN 412-1

Strahler im Messbetrieb / source unshielded

seitliche Ansicht
side view

———.
Y L Lidiabotaintodel. 18

.,

\*

A
o

i

——,

=N

. . ) -
. - k".“‘
O\
. - \‘\(\
- LN
—..tou-u-.._..—l'—-l:: 1
» SO\ VA

7 30 5m 70 av o8 i 0g = Y S 5 0B B4

. 2

[

"-.--l,-

i |

‘—'T«.——_.'d.——-.—-“"f

—r,

—=**=—" 75uSvh
————— 2,5 uSvsh
Isotop: Kr85 Messspalt: 10 mm Strahlertyp: X1114
isotope . meas.gap - type
Aktivitdt: 9,9 GBq . Ko_llimator: Schlitz10x 35 mm Kr85-9,9-10-01 '
activity slotted collimator Bl. 1
MeBgerit: babyline

Indicon One $-03 / Strahlenbelastung / Kr85-9-9-10-01-DIN412-1

betacemntreh]




lso'dosiskurven | isodose curves nach DIN 412-1

Strahler abgeschirmt /source shielded

- - - - - - - - - - -

Seitliche Ansicht
side view

Tt 75u8vh
——=—==25uSvsh
Isotop: Pm147 Messspalt: 10 mm . Strahlertyp: VZ-464
isotope - |meas.gap ‘ . type
Aktivitat: 18,5 GBq " |Kollimator: Rund = - : Pm147-18.5-10-01
activity slotted collimator BlL2
Messgerit: babyline

"Indicon One S-03 / Strahlenbelastung / Pm147-18-5-10-01 A ’ @@E@@@@Bﬁ’@ﬂ



e daTryta G R

Gtired
trahlenbelasti
I T A AT TN,

Isodosiskurven | isodose curves nach DIN 412-1

Strahler im Messbetrieb / source unshielded

Seitliche Ansicht
side view

— =" 15uSvh
----- 2,5 uSvsh
Isotop: Pm147 Messspalt: 10 mm : , Strahlertyp: VZ-464
isotope meas. gap o type
Aktivitit: 18,5 GBq Kollimator: Rund : Pm147-18.5-10-01
activity slotted collimator Bl. 1
Messgerét: babyline

Indicon One S-03 IS!rahIenBelasMng 1 Pm147-18-5-10-01 - ' @@Q@@@Gﬂﬂ?@]



Isodosiskurven nach DIN 412-1 | isodose curves

Strahler abgeschirmt / source shielded

seitliche Ansicht
side view

- - - - ——— -

et M

Pl L

. | —--—- 75pSvh

2,5uSvsh '
Isotop: Sr90 : Messspalt: 35 mm Strahlertyp: X117
isotope - , meas.gap : type
Aktivitdt: 0,37 GBq Kollimator: Schlitz 10 x 35 mm . Sr.20-0,37-35-01
activity . slotted collimator . -iBL2
MeBgerit: babyline

Indicon One S-03 / Strahlenbelastung / Sr90-037-35-01 @@8@@@@89@3



Isodosiskurven nach DIN 412-1 | isodose curves

“Strahler im Messbetrieb / source unshielded

seitliche Ansicht
side view

p ..
f
hY ’:-‘.----—-dl-------...--‘.m‘ ,
7\, X
r.)". ,’\ ‘
‘- 3 l

12

|
_Ln!—

wdrmmncancn,,
PP Ldubull N,
L St \

|
3 "‘-‘T-— ——tee
S \§
f )

Serenndnnna,, ./.'. PR
-

—--—-75uSvh
2,5 uSvs/h
Isotop: Sr.90 Messspalt: 35 mm Strahlertyp: X117
Isotope meas.gap . type -
Aktivitat: 0,37 GBq - Kollimator: Schlitz 10 x 35 mm $r.90-0,37-35-01
acu'vity slotted collimator . Bl. 1
MeRgerit: babyline

Indicon One S-03 / Strahlenbelastung / $r90-037-35-01 @@G@@@Nﬁ&ﬂ




